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dU = TdS + dW
(T,V,p) : dW = —pdV
(T, B, m) : dW = —m - dB = —mdB
F=U-TS=dF = dU — SAT — TdS = TdS + dW — SdT — TdS
dF = dW — SdT

(T,p,V): dF =—pdV — SdT <6F> <8F>
P=—1\ 577 , m=—|——
(T,m,B): dF = —mdB — SdT A¥ OB ),
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F =—NkgTIn(2cosh(BupB))
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F = —NkgTIn(2cosh(BupB))

NupB sinh(SupB)
T  cosh(BupB)

g _ (g_]ji)B = NkpIn(2cosh(BugpB)) —

F  NupB
S=_- 1B

i T tanh(BupB)|= ST = —F — NupBtanh(SugpB)

F=U-ST=ST=-F+U

U= —N,uBB tanh(ﬁ,uBB)
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U= —N,LLBB tanh(ﬁ,uBB)

U _9paU
9T 0T 98
—1 cosh?(BupB) — sinh?(SupB)
C=—-NugpB B
B (kBT2> Hp cosh?(BupB)

1
cosh?(BupB)

¢ (BupB)?
Nkg  cosh®*(BupDB)
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A+ pupB ~
KB $3A1 515 0l Jold (b lisn s ®

A
A_ MBB Zl =14+ e_B(A_QMBB) + e—BA 4+ 6—5(A+9NBB)
0 Iy =277

Zn = [1 4 PBm0B) (=08 | =BlrtouaD)] Y

Zny=|14+(1+ ZCosh(Bg,uBB))e_BA]N

F = —kBTanN

F =—NkgTIn [1+ (1+ 2cosh(BgupB))e "]
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A
A — jpB F = —NkpTln |1+ (1+ 2cosh(BgupB))e 2]
0
OF 2 P2 sinh B
m=— (9 _ Npyr_209nse " sinh(BgupB)
9B ) .. 1+ e=P2(1 + 2cosh(8 gupB))
sinh(B gupB)
— 9N
m B PR 11 1 2 cosh(B gpip B)
m sinh(8 gupB) N
M=— =2 Y
V "B BA + 14 2cosh(BgupB)’ TV
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A
inh(5 gupB)
A —pupB M =2 o
N WIRB BA T 1 2 cosh(B gurB)

(oM
X =Ho S\ o8 -

oMY ong B gup cosh(B gupB)
0B )+ HB\ P 11+ 2 cosh(B gupB)

26 gpup sinh® (8 gup B) )
(P2 + 14 2cosh(B gupB)]?
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inh(S gupB)
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UB ; ngHB eBA 1+ 1+ ZCosh(ﬁ g,uBB)
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~ 2ng*py 1
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1 1 1

7 — Z o~ B(na+ny+n:+3/2)hw

Mg, Ty, T2
7 — e—35hw/2 Z G—B(nx+ny+nz)hw
Mg s Ty s T 2
7 — 6—3Bhw/2 (Z nwﬁhw> Ze g Bhw (Z 6nw5hw>
Ny n,
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7 — 6—35hw/2 (Z enxﬁhw> Z e—nxﬂhw (Z enxﬁhw>
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1 — e Bhw

rsb@‘.b chgrjl&OM‘b ct.i.:“}:\.ébjjf LSJAE-O Lb,.\w

’I’Ly nz




dmdw s asle Sige,la SOl *

e—Bhw/Q
7= (1=em)
1 — e Bhw

3

3N

—Bhw/2
_ N _ [ _©
IN = 2 _(1_6—Bﬁw>

e—Bhw/Q
F:—kBTanN:—3N]€BT1H( )
1 — e Bhw

3N hw
F=—kpTZy ==~ +3NkpTln(1 - e Py
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e—Bhw/Q
F'=—-3NkpTIn ( )

1 — e Bhw

OF et/ OB\ 0 | (e
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T T 1 — e Bhw 1 — e~ Bhw
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1 — e Phw

ap

—Bhw
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1 —Bhw 1 1
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1 — e Bhw 2 ebfhw _ 1
oU 1 oU
CV = — = —
oT kgT? 05
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Cy = 3Nkg(Bhw) 1= o2

kT > hw = Bhw < 1

3N hw
U ~ T—l-SNkBTiCV = 3Nkg

rsb@‘.b chg‘t}L&b.&s.&.:‘b ct.i.:“}:\.ébjjf LSJAEA Lb,.\w




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33
	Slide 34
	Slide 35
	Slide 36
	Slide 37
	Slide 38
	Slide 39
	Slide 40
	Slide 41
	Slide 42
	Slide 43
	Slide 44
	Slide 45
	Slide 46
	Slide 47
	Slide 48
	Slide 49
	Slide 50
	Slide 51
	Slide 52
	Slide 53
	Slide 54
	Slide 55
	Slide 56
	Slide 57
	Slide 58
	Slide 59
	Slide 60
	Slide 61
	Slide 62
	Slide 63
	Slide 64
	Slide 65
	Slide 66
	Slide 67
	Slide 68
	Slide 69
	Slide 70
	Slide 71
	Slide 72
	Slide 73
	Slide 74
	Slide 75
	Slide 76
	Slide 77

